«-1 of @é 27 cp.h;\(?!v‘*( '649737\7\‘U'
'g@(e):ﬁ 2;T } e _JV;B,i

O - e s (2FE+ B) -
"3(?,@({(83 :({g(@-i@@) por 2 1«920&

{c@® ocpem VE
S{@Léﬁ):{ 7 |
2 Park

HeDin

6’)] = ’E[A( . &S (%?an@ﬂ = fc E[C@J (ZOH{- é«))]

@(4(9)43€°L9 -

;[c
:ch‘_z f’ : Ges (2] t ¢ ©) ﬁg:'

2 © -
f ’3??&\]0% s C%é%%ﬂﬁ | ke f:({&;@ [ S;g%{/* S)JO £

o I
7

._____,,—-——~: 0
—



A e, D) o B C¢teD) :E[A: s (054 B) -Ae [ 20F(4€7) <8

= ’%—26 e[&; (m-?r)] t %i@s(wwuﬁ) +2 @)]

-

T T

T = E[c«») (Zn‘F'c)] 31:0’5 (2%:3) fg(f)c@ |
L E[ s 208 (2447 *2@) - / " f DZS(Mf@fJ)J«ZG)f\C,@“”’)%@

([ ol )2 (340 O,_
_ j te f oo (2442) 2 @Jﬁzjé / M)/S@ zp¥{zzéz)+29)z
-® 0 o -2
0 P

@5(23:§;f,: s (2 T) (v @&

LI' rehs @ a.,j{‘u/t 4 (o M\(erl?co&'— “A QG%‘.:Q-(’ e €
(solo dopren b &L ) o b g - (931\‘(‘&“"‘ 2, o5ty
b iy Jg

s Re@er (g S ey



PlopLeMA 4 ([ GnT)

(s b- ¥ o[- 4554
R B Y R AR (R

_ Ac @j T ({0« 254;( 4)]15&(4{»4&

L,\_\_///\—J ——

: %‘E[g;&\ +J§-;(—§\‘q

(€ S o v-- W DR okow s

S = MO CO

Sabtres adm ge¢ Mg o ek e &

e e <) - €[ re- ot - }4] e[ ] = 0

B R :-E sMS 7)) = E[ MO 8- 1 et C Y|

-] My rleeD) O ¢ (ez))
Yoo o (&) oto-ce

(oo HE o -5y
C(fte?)) (D) R, (2)

0 (2)- {HENED)] g



Entree, a gN‘\Rc 4 p%,er\o 4L ﬂﬂ/\'-\&& () :

QS@'\: E‘z—é RHCC)J ” s ( ZFF(Z') iF(“@c}ﬁ
“ (- av WQ(,&;, /7\{“""30 .C,[aoéz 2 0)\/705’«/7»‘_

oo b eX- e(s@)==
® ss® -] WRs® oxpl- | Wf2) d

D o o Rs(@)- e @-Rc (0

EXV) V\CCIS .

S - £ xS (8

q  por 5 4@”‘*‘*" (d)
Sc - %[%(iﬂf;(—ﬁ]




f@oeuemx A CenT)

s

Q
(.1
%
W@:E— ) w(niz) S(£ ?L\AQ _
8 ookt T SCEAD - He (b
(d).4 : 2




FROBLEKA 2

L 13 g
Anox =19

(@)

1% 4§59 #2102813%5 1603

T-2%
- "T-585
4 — ,.._9'
I—T 4 —19?‘:?
. ~ 1 -1k 62
J— - — 14
T DTRA (o0 -478] | (- 1608 ~315] | (315 0'23] | (-(=23 -3 (-131,-4%)
SHLIDA -13'5Y4 ~1462 ~17%¢% - '9’% ‘8’85
TAT, TATE (uzg ) | Fove Vool (1€, 4938) [ (438,230 | (7516 ]{
Swudh | 2'1 0 'y 535 | 3737 |
TAT SR (023, 31]|(3's, Bew) | (16703, =) |
SALOA 1169 4q'¢2 | 3%

@) 45: q3gS m/s

e i
o

w 695 = 2”1&’ = o < 5p
15e fo3 26 <1515¢

Q?S

2979

e WVv‘A.Q d Rorema de AJ)/?:AJ(‘

r - d -3
Tigmpo| f:0 ER Ny 2,45453 20567 4 067 S 03-0° éoq'w,.{?u th 32 q,ﬂ
UaCad ] 15 [ ol (095 |-633 499 -,3'45 453 jzﬁz

L



4 SexN AN
1% 13y
4o + %'0(1 .
S 9 095
e D
PR T AR uyj o S 4 nﬂ" ¥ 40*” X (ms)
~4o o 638 t 95 Yy
5 4 1213 o= -1345
§

€] ST GenT(FCAPA

Ted 0 |fa’ I 2'036> , ,’2,5-(;3/ 4 'oé'togIS 8‘1}(32' g;f(.(;g [:g'”.. U;3I$§'(2~lo'3 ]‘?‘1q.¢o'3/
Serore & | 4462 ﬂ’gﬂg‘:pr } 0 / -5'35 }-ﬁ'gq I_,q'gé'/;(‘l'éZ! ‘3‘9?!'2'0%/

—

I8 69 c’
R YT
1.

P “oS '1‘ 1|‘s 2 2 ;—B;s 4}}fU£ 653 3% ﬁﬁ’ ‘i—‘l‘% io ¢ :?(wg)

- i 7, -}

-5 + -\Wge

2
@) PQ = (S‘\V’Vo {#(7( S (oatler - ga,‘ﬁ) ’%\DA u,p:ﬁ"—" C«L)

erpol © [4r 6732636 30567 (o6 ' 6 (o[ TR0 w0’
’B%R' 02§ 1'qs 0’33 VOrqS 053 o'qq 026 ib’éé 10'80 [(
Pt lug | 952 (531 | BTY | 25 492 | 30 |4ud 659 |

3 3
RSP 9l | 133 - (0 Aw| O 3% 00 |3 2663 | U Iq% [q.(,j
mn f

e



(o RLe A 2 CCOU\T-}

3
@ WT.HED. S = 444 - mW = 5045 &,
YT . MED . @0WD = S3B mW = 273723 dBny

SR[R) - 5645 272 - 2319 a.e?

I
S

Teol (AENTE
e 1 4R) = bu+ 1'3

o = gl =33 So strtogpde SM

; . . 5
LA \;e_ﬁ(weka &\‘g&‘QvaSA Ce xebo « ? (ﬁ wg‘, Ve ,,J

~w b é@ C"{ér CP""N /VV/‘O‘ &My Le JQL&(-\ ol<f e ‘{ow
oo Bt A3 e S o320 Dt e e don
& 4& Al ‘(¢Lv£:>\\er- Q- Jeé;&« - aV (& Vbéj’a)‘f\hl\c C/\(Q.,

o terte st w wlo g 0E o o L2 6T





